Model Question Paper
Periodic Test- IT

(=ifat (Class) : 7193 (VII)
<= (Subject) : ifd (Mathematics)

1
A (Time): 1 3 Hours

Group-A (10 Marks)

TR 29T SeaMS (Ansnswer the following question) :

1k

2.

(% 794 (Full Marks) : 40

2%3=6
Tizge! (Example) :
99 S (Multiply) : 3.1 x 0.4
e (Answer) : 1.24
2% (Question) : 2.7%x0.1
st 97 (Subtract) :
Gnizgel (Example) : 172
=25
TeT (Answer) : 147
2% (Question) : 125
=
R 7199 6 (Fill in the blanks)
Ewiege (Example) : 113, , 115, , , 118
Ted (Answer) : 114, 116, 117
2% (Question) : , 175, 176, . . 179
w8 (e (Match the following column) : 4x1=4

A B
Sntzaet (Example) : (i) 10+2 (a) 3
(1) 12 =2 (b) 5
Be (Answer) : 1 — (b)
(i) — (@
2ol [nfaie wel Gre (Now match the follwing column) :
| (1) 18+3 (2) 8
(i) 36+4 (b) 10
(iii) 40+5 (c) 9

(iv) 60+ 6 d 6



Group-B (15 Marks)

Ao 2SR TSI S (Ansnswer the following questions) : 1 x5=a
1
5. —?li R 5 GG I Fvet o
1 d A heih i ?
Z an| 4 , wheih 1s greater’

6. Wﬂwﬂ(—% ) & o S

w .. 8 | L
D —% (i) & @) = ) 3
Write down Sandard form of (—% )is
! 8 .. 8 .. -4 . 4
@ —% () ¢ (i) = v) 3
7. <> @R = e (A ASS e e e Qifer e AjFe et ¢
3
) 0
Fill in the box with the correct symbol out of ‘<’ , >” and ‘=’
8
9 0

8. ey« @l ab— a— b @3 fesm T

Write true or false : Expression ab—a—b is binomial
9. RYIZ & Z7 54 |

Multiply Z by Z
AT 2eTeE T wie (Ansnswer the following questions) : 2x2=4
5 7
10, @@ Sty
7

Find the sum : 3 2 3

11. m-2 @A IR T m=2
Find the value of (m - 2) when m =2

ToF 29T Tea me (Ansnswer the following questions) : 3x2=06

1 2
12. 5 @R I SoTo ot AT ¢ |

2

R 1 Write down the five rational numbers between 5 and 3
|

13. @9sE@e a+b-3, b-a+3, a-b+3
Findthesum:a+b-3, b-a+3, a-b+3



Group-C (15 Marks)

%MW TeTWIS (Ansnswer the following questions) : 2x2=4

14.

15.

16.

AT 36 B T 20T C (I J0eT NG o 2
If above circles are congruent then find radius of the circle having centre *C’
WW@WW@@WW%WWW&TW?

(i) 2B (ii) g wipleg Tmma g

What cross section do you get when you give a horizontal cut to the following solids?

(1) abrick (ii) An ice house of cone shape.

T 509 MR L AN «R% MR, ZAMN <7 e | e 3x1=3
A MAN 56 FwfeRig fope |

Inthe given figure MR 1 AN and MR, is the biscetor ZAMN,
prove that AAMN is an isosceles triangle.
A R N

Ei(CF 29T 6T 7S (Answer the following questions) : 4x2=8

17

18.

(4+3x) @R (5-4x + 2x%) @ @isFE Te (32 - SX) @R (- X2+ 2X + 5) 7 ctalzee Rcet v |
From the sum of (4 + 3x) and (5 - 4x + 2x?) subtract the sum of (3x? - 5x) and (- x2 + 2x + 5)

5@, cb=0w, Do =0G G
AN IR, (i) DC=GW

(i) DC | GW
In fig, CD = OW, DO = OG

(i) DC = GW W

(i) DC | GW



Model Question Paper
Periodic Test- I1
=74 (Class) : 7% (VID)
<=3 (Subject) : [9=+ (Science)
T (Time): 1 % Hours GG =4 (Full Marks) : 40
Group-A (10 Marks)

1. Toa SRRt 7T @3k [N remt 2%9@a eea 7€ 2 (Read the paragraph carefully and answer
the following questions) :

T G0 IR FTAT | A 1, TR I, T8 S O G AT | /e
e ROl e Sy e | AR SSerE @nEG 70% o ekl wige |

Water is aresource. We need water for drinking, irrigation, bathing and other purpose. Life On
Earth is not passible without water”. About 70% of the earth surface is filled up with water.

(i) == 2 et (Fill in the blanks) : 1x3=3
() T GI® W
Wateris a
(b) TERE eI
is nto possible without water.
(c) AN T, FRBAm Flosr AT |
Weneed  fordrinking irrigation.
(i) 3% Teafb AR FEH (Choose the correct option) : 1x3=3
(a) T GFD —
(P) FORRERG T () B @) F
Water is a-
(p) resource (q) source (r) solid
(b) & RG]l HEI A2
(p) soil (q)animal (r) life

(b) What is not possible without water?

(p) soil (q)animal (r) life
(c) ‘?j@%ﬁ PO *OIH Gre ?
(p) 60% (q) 50% ®) 70%

About what percent of earth surface water is filled up.
(p) 60% (q) 50% ) 70%



2.  FF N0 B X (0N (Wime the correct name of the figures) : 1x4=4
r\.\“"/@;
1T F PK
o d v B o7 e e
A5 ks 2 8 l o
A B & D
Animals C::i.e Plant Water

(Group-B) (15Marks)

3. 98 @@= 8 (Match the following column) 2 I1x5=5
Column-] Column-IT
(i) %5 /Yeast 2{gg%/Stomata
(i) wEEFE/Diaphragm 51/ earth worm
(i) %/ Skin i/ Gills
(iv) “rel/Leaves g/ Lungs
(v) ™z/Fish FF91%a/ Chest cavity
(vi) <ote/Frog SeTPE/ Alchohal
4, T e e W8 (Anawer the following questions) s 2x3=6

(a) T GG St 21 W @2
Why we often sneeze when we inhale air mixed with dust explain?
(b) RIS 8 SRS WA A G5 7ty Gt |
Give two difference between aerobic respiration and anaerobic respiration.
(c) bR ZRMTET 76 PR AN TR |
Write any two effects of electric current..
5. oft @ S, — SREE g A A5 el Swit FIE G SfUepE IR T (@O

AT 7 JIG FCA 3
Do you think an electromagnet can be used for separating plastic bags from a garbage heap?

</ or
4t T oo TETA o e |

Draw a closed electric circuit diagram to represent a circuit.
Group- C (15 Marks)
6. Wi oerfs 41 (@9 FE (Choose the correct option) : 1x3=3
(a) ™ w5 sremeE-
() TEmE e ) Rosfeam i) e (i) ©ITA A



During inhalation diaphragn moves
(i) up ward (ii) down ward (iii) left (iii) right
(b) B THACE Sz R
() v (if) A (iii) & (i) S1©
To make a circuit complete we need-
(i) key (ii) apple (iii) water (iii) soil
(¢) AR (A= 70 WWWV{WQ‘F{
(i) ST (ii) T (iii) TS (i) =L
Which mitror used in vehicle-
(i) concave (ii) convex (iif) plane (iii) rough
SpT PEER TSRS (Answer the following questions) (SA)3 2x2=4
7 oEm RIS P RCUCER AT oA T sifoe 2T |
What is virtual Tmage? Give one situation where virtual image is for med.
g T A Al &Y
What makes the blood look red?
S sz ZEAER v e (Answer the following questions) (S AN 1x3=3
9. S I s et
Describle the function of heart.
10. Wﬁ@wﬁaﬁﬁaﬂmmﬁfﬁ@wﬁ‘ﬁm\ 1x5=5
Draw a diagram of human excreatory system and label the varius parts of it.
qi/ or
1 T4 aﬁﬁwmw@awﬁ@mw a0 A G T

W%@——WﬁﬂWc

What is the full form
kept nearby gets deflected from

Wﬁﬁﬁ@iﬂ\&ﬁwifﬁﬂﬁwl

of MCBs? ‘When the
its north-so

current is switched on through a wire, a compass needle

uth position. Explain.



1
79 (Time): 1 o Hours

Model Question Paper
Periodic Test- 11

=fa (Class) : & (VID)
357 (Subject) : e (<&l (SST)

%-T@i9 (Group-A) (10 Marks)

15 = (Full Marks) : 40

Srer SRS S U #ITT! IR FREERS 29T Sea e ¢ (Read the passage given below

and answer the questions that follow) :

B RE Sie ST Q3 SR 375 2 | Biea Mt SIwat 90 907 (4eigett ordts A | e

R SoAeITed ST R GRI0S 206 Bz |

It is difficult to imagine a life without television. We can watch games and sports through, television

athome. Television signals are transmitted through satellites.
(F) ¥ =74 St (Fill in the blanks) 3
() RO SR SRS Y ST S 2
It is difficult to imagine a life without
(i) PeavgEerTEIG__ (e AR
We canwatch _ through television at home.
(i) DoagRemE ol (RIS g 5|
Television signals are transmitted through
() Tey/fet @ical (Mark True/False against each statement) 3
(1) T 3Bois & | 1/ Fa)
Rainfall occures during the monsoon season. (True/False)
(i) ostres fsjar @l <7 <= | e/ )
Agartala is the name of Tripura’s river port. (True/False)
{-J@is (Group-B) (15 Marks)
#Hf%< T Qg2 6! (Choose the correct answer) 8 (& &%) (Any 5)
Q) =S ez IMehin b Tres Trg—

(a) =T (b) et (c) ©6

An improtant animal found in Tropical Evergreen Forests is -

(2) Monkey (b) Giraffe (c) Camel
(i) GootpIe (it AT—

ORI (b) SR ORSTGREE]

Steppe Grassland is found is-
(a) South Africa (b) Australia (c) Central Asia

2% 3 =6

2x2=4

1x5=5



B

4.

3.

(i) CUTETCR S5 SIres 2w IR Te—

(a) T (b) = () @R
The most important trade centre in west India during the Mughal rule was-
(a) Rajkote (b) Surat (¢) Bombay
(v) CIFTERR GIIETE S Afsffd fRre=—
(a) frEEa (b) T (c) T
The Muglal representative at Golconda was -
(a) Mitjumla (b) Maansingh (c) Mirquasim
(v) et TeosacEn oeet R o AR Sl B A ITE—
(a) AAToCF (b) GFFITFOE (c) dtersty
Mass media play an importantrole n disseminating news and information across the world is a-
(a) Democracy (b) Autocracy (c) Monarchy
(vi) SlefstiEg FE0e JHE—
(a) Ca=HIgET (b) AAMD (c) M
Massmedia means-
(a) Games & Sports (b) Newspaper (c) Transportand Communication
e Teawie (Answer the following question is brief) ¢ 2x5=10

) I R Bt e w0 et s e
Which are the two factors on which the growth of vegetation mostly depends?
(ii) iR B 2 foaf aem I 2
What are the three broad categories of natural vegetation?
(iii) @i e T @R?
What is a mandapika?
(iv) G A 2
What is Silk Route?
) @ Gt Foafb afeegTer = (Tl ?
Give three examples of mass media?

s-fF@il (Group-C) (15 Marks)

s ReFre AisTeE Bed Wie (Answer very briefly) ¢ (T & ¢f6 (Any Five) 1x4=4
() AR A R
Give any two examples of means of transport.
@) ‘e TS FETCS O S [A?
What is population density?
(i) SN NI & ferem 2
Who was Kamal Khan Gakhar?

(iv) iR = L ¢
What is meant by ‘branding’?

w<fre) Tegme (Answer very briefly) s 3x2=6



s lﬁ@-?

(@) RO Ao o=
lar region have thick fur and thick skin?

Why do the animals I po
> S5 g 2o 2T ST M 00 A2

|
(i) AR RS o =E =
-5 On whose bhfalf did she administer the Kingdom?

Who was Rani Durgavai-

6. Apadabaveme (Answer the following question) &
@) <o (=it T SR | I S

Today’s world 1s shrinking. Give reasons.

or
AT i I RO PR T

TR ST I 29 EARIRIC
9 How do nomadic pastoralists live?

Who were called “The nomads”

5%x1=5



